EMCEF 40

Log into CourseWare at http://www.casa.uh.edu
and access the answer sheet by clicking on the EMCF tab.

. cos 2z — 1 + 222
1. lim 3 =
z—0 T

(a) —2

(b

—_

(c
(d) 0
(e) None of the above.
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2. lim (CDS 221?)1,;.1".2 _

x—0

(a) e”
(b) €
(c) €
(d)
(e) I

vone of the above.

does not exist

Nomne of the above.
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5. The sum of the series Z T

18:

(a) 2
(b) 1/2
(c) 3/4
(d) 2/3
)

(e) None of the above.
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6. The series Z i
\/4,& = Ok 41

(a) absolutely convergent
(b) conditionally convergent
(c¢) divergent
(d) cannot be determined

)

None of the above.

(e

RQL .|
. The series Z u 1S

(a) absolutely convergent
(b) conditionally convergent
c) divergent
)
)

cannot be determined

(
(d
(e

None of the above.
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8. The interval of convergence of Z P 2* s

(a) [~1/4,1/4)

(b) (—4.4]
[4,4)

(d) (-1/4.1/4]

N

one of the above.
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d

)
)
)
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(e)
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9. The interval of convergence of Z R s

10. The Taylor  series centered at 0 for f(z)=e* is:
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(e) None of the above.



